Article

# On Generating Functions for Boole Type Polynomials and Numbers of Higher Order and Their Applications 

Yilmaz Simsek ${ }^{1}$ and Ji Suk So ${ }^{2, *}$<br>1 Department of Mathematics, Faculty of Science, Akdeniz University, TR-07058 Antalya, Turkey; ysimsek@akdeniz.edu.tr<br>2 Department of Mathematics and Institute of Pure and Applied Mathematics, Chonbuk National University, Chonju, Chonbuk 561-756, Korea<br>* Correspondence: goleta961@jbnu.ac.kr

Received: 1 February 2019; Accepted: 2 March 2019; Published: 8 March 2019


#### Abstract

The purpose of this manuscript is to study and investigate generating functions for Boole type polynomials and numbers of higher order. With the help of these generating functions, many properties of Boole type polynomials and numbers are presented. By applications of partial derivative and functional equations for these functions, derivative formulas, recurrence relations and finite combinatorial sums involving the Apostol-Euler polynomials, the Stirling numbers and the Daehee numbers are given.


Keywords: Apostol-Euler polynomials and numbers; Peters polynomials and numbers; Boole polynomials and numbers; Stirling numbers; Daehee numbers; generating functions; Changheenumbers and polynomials

MSC: 05A10; 05A15; 11B68; 11B73; 11B83; 26C05

## 1. Introduction

In literature, there are various different and useful manuscripts related to not only Boole type polynomials and numbers, but also the Peters type polynomials and numbers. Some of those have been recently given by Boas [1], Jordan [2], Kim et al. [3-10], Kucukoglu et al. [11], Kruchinin [12], Roman [13], Simsek [14-20], Simsek and So [21], and also Srivastava et al. [22,23]. By using generating function method, we give many important and fundamental properties of Boole type polynomials and numbers of higher order. We need the following notations:
$\mathbb{N}=\{1,2,3, \ldots\}, \mathbb{N}_{0}=\{0,1,2,3, \ldots\} . \mathbb{Z}, \mathbb{R}, \mathbb{C}$ and $\mathbb{Z}_{p}$ demonstrate respectively sets of integer numbers, real numbers, complex numbers, and $p$-adic integers. Marking that for $n=0,0^{n}=1$ and for $n \in \mathbb{N}, 0^{n}=0$.

$$
(x)_{v}=x(x-1) \cdots(x-v+1)
$$

$(x)_{0}=1$ and

$$
\binom{x}{v}=\frac{x(x-1) \cdots(x-v+1)}{v!}
$$

where $v \in \mathbb{N}_{0}$ (cf. [1-32]).
The definition of the Apostol-Euler polynomials of order $v$, shown by $\mathcal{E}_{n}(x, \lambda)$, is given below.

$$
\begin{equation*}
F_{\mathcal{E}}(t, x ; \lambda, v)=\left(\frac{2}{\lambda e^{t}+1}\right)^{v} e^{t x}=\sum_{n=0}^{\infty} \mathcal{E}_{n}^{(v)}(x, \lambda) \frac{t^{n}}{n!} \tag{1}
\end{equation*}
$$

(cf. [25,28,29,31,32]; and the references cited therein).

Setting $v=1$ in (1), we have the Apostol-Euler polynomials

$$
\mathcal{E}_{n}(x, \lambda)=\mathcal{E}_{n}^{(1)}(x, \lambda)
$$

When $x=0$, we also have the Apostol-Euler numbers

$$
\mathcal{E}_{n}(\lambda)=\mathcal{E}_{n}(0, \lambda) .
$$

When $\lambda=1$, the above equation reduces to the well-known the Euler numbers

$$
E_{n}=\mathcal{E}_{n}(1)
$$

(cf. [1-32]).
The definition of the Stirling numbers of the first kind, shown by $S_{1}(n, k)$, is given below.

$$
\begin{equation*}
F_{S_{1}}(t, k)=\frac{(\log (1+t))^{k}}{k!}=\sum_{n=0}^{\infty} S_{1}(n, k) \frac{t^{n}}{n!} \tag{2}
\end{equation*}
$$

If $k>n$, then

$$
S_{1}(n, k)=0
$$

(cf. [2-30,32]).
The definition of the Stirling numbers of the second kind, shown by $S_{2}(n, k)$, is given below.

$$
\begin{equation*}
F_{S}(t, k)=\frac{\left(e^{t}-1\right)^{k}}{k!}=\sum_{n=0}^{\infty} S_{2}(n, k) \frac{t^{n}}{n!} \tag{3}
\end{equation*}
$$

If $k>n$, then

$$
S_{2}(n, k)=0
$$

## (cf. [2-30,32]).

The Peters polynomials are one of the members of the Sheffer polynomials, which are a very broad family of polynomial sequences. The definition of the Peters polynomials, shown by $s_{n}(x ; \lambda, \mu)$, is given below.

$$
\begin{equation*}
F_{P}(t, x ; \lambda, \mu)=\frac{(1+t)^{x}}{\left(1+(1+t)^{\lambda}\right)^{\mu}}=\sum_{n=0}^{\infty} s_{n}(x ; \lambda, \mu) \frac{t^{n}}{n!} \tag{4}
\end{equation*}
$$

where $x, t \in \mathbb{C}(c f .[1,2,13])$.
Remark 1. Recently, there have been various studies and papers about the Peters (type) polynomials. For example, see for detail, Boas [1], Jordan [2], Kim et al. [3-10], Kucukoglu et al. [11], Kruchinin [12], Roman [13], Simsek [14-20], Simsek and So [21], and also Srivastava et al. [22,23].
We now present some appropriate values of the $s_{n}(x ; \lambda, \mu)$.
When $x=0$, we have the Peters numbers:

$$
s_{n}(\lambda, \mu)=s_{n}(0 ; \lambda, \mu)
$$

(cf. $[15,22]$ ). When $\mu=1$, we have the Boole polynomials:

$$
\xi(x, \lambda)=s_{n}(x ; \lambda, 1)
$$

(cf. [2,13]). If $\lambda=\mu=1$, we get the Changhee polynomials

$$
C h_{n}(x)=2 s_{n}(x ; 1,1)
$$

(cf. [3,4]).
The definition of the Daehee numbers, shown by $D_{n}$, is given below.

$$
\begin{equation*}
F_{D}(t, k)=\frac{\log (1+t)}{t}=\sum_{n=0}^{\infty} D_{n} \frac{t^{n}}{n!} \tag{5}
\end{equation*}
$$

(cf. [5]). For further information and generalization see also (cf. [11,15-18,23]). Recently, the first author defined the following combinatorial numbers and polynomials, respectively:

$$
F(t, \lambda)=\frac{2}{\lambda(1+\lambda t)-1}=\sum_{n=0}^{\infty} Y_{n}(\lambda) \frac{t^{n}}{n!}
$$

and

$$
F(t, x, \lambda)=(1+\lambda t)^{x} F(t, \lambda)=\sum_{n=0}^{\infty} Y_{n}(x ; \lambda) \frac{t^{n}}{n!}
$$

(cf. [18] ).
Let $d$ be an odd integer and $\chi$ be a Dirichlet character. That is $\chi(x+d)=\chi(x)$. The first author [18] [Equation-(2.3)] defined the following interesting $p$-adic integral representation and equation:

$$
\int_{\mathbb{X}} \lambda^{x}(1+\lambda t)^{x} \chi(x) d \mu_{-q}(x)=\frac{1+q}{(\lambda q)^{d}(1+\lambda t)^{d}+1} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j}(1+\lambda t)^{j}
$$

where $p$ is a fixed prime and $d$ is a fixed positive integer with $(p, d)=1$, hence

$$
\begin{aligned}
\mathbb{X} & =\mathbb{X}_{d}=\lim _{\overleftarrow{N}} \mathbb{Z} / d p^{N} \mathbb{Z} \\
\mathbb{X}_{1} & =\mathbb{Z}_{p} \\
\mu_{q}(x) & =\mu_{q}\left(x+p^{N} \mathbb{Z}_{p}\right)=\frac{q^{x}}{\left[p^{N}\right]}
\end{aligned}
$$

where $q \in \mathbb{Z}_{p}$ with $|1-q|_{p}<1$ (see for detail, [26]) and

$$
[x]_{q}=\frac{1-q^{x}}{1-q}
$$

Here $q$ is an indeterminate. If $q \in \mathbb{C}$, we assume that $|q|<1$. It is well-known that

$$
\lim _{q \rightarrow 1}[x]_{q}=x
$$

(see, for detail, [18] [Equation-(2.3)]).
By using the previous equation, we have

$$
\frac{(1+q) \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j}(1+\lambda t)^{j+z}}{(\lambda q)^{d}(1+\lambda t)^{d}+1}=\sum_{n=0}^{\infty} \mathfrak{C h}_{n, \chi}(z ; \lambda, q) \frac{t^{n}}{n!}
$$

where the polynomials $\mathfrak{C h}_{n, \chi}(z ; \lambda, q)$, which are the so-called generalized Apostol-Changhee polynomials, are given by

$$
\mathfrak{C h}_{n, \chi}(z ; \lambda, q)=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j}(z)_{n-j} \mathfrak{C h}_{j, \chi}(\lambda, q)
$$

where the numbers $\mathfrak{C h}_{n, \chi}(\lambda, q)$, which are the so-called generalized Apostol-Changhee numbers, are given by

$$
\begin{equation*}
\mathfrak{C h}_{n, \chi}(\lambda, q)=\int_{\mathbb{X}} \lambda^{x+n}(x)_{n} \chi(x) d \mu_{-q}(x) \tag{6}
\end{equation*}
$$

(see, for detail, [18] [Equations-(2.4) and (2.5)]).
In light of the previous equations, the authors [21] defined the following special polynomials $y_{7, n}(x ; \lambda, q, d)$ :

$$
\begin{equation*}
K_{d}(t, x ; \lambda, q)=\frac{(1+q)(1+\lambda t)^{x}}{(\lambda q)^{d}(1+\lambda t)^{d}+1}=\sum_{n=0}^{\infty} y_{7, n}(x ; \lambda, q, d) \frac{t^{n}}{n!} \tag{7}
\end{equation*}
$$

When $x=0$, we have the special combinatorial numbers:

$$
y_{7, n}(\lambda, q, d)=y_{7, n}(0 ; \lambda, q, d)
$$

Substituting $d=1$ into (7), we also have the special combinatorial polynomials:

$$
y_{7, n}(x ; \lambda, q)=y_{7, n}(x ; \lambda, q, 1)
$$

## (cf. [19,21]).

Here, brief information about notations and index for the above special combinatorial numbers and polynomials is given as follows:

The first author has recently defined many different Peters and Boole type combinatorial numbers and polynomials. He gave some notations for these numbers and polynomials. For instance, in order to distinguish them from each other, these polynomials are labeled by the following symbols:
$y_{j, n}(x ; \lambda, q), j=1,2, \ldots, 7$, and also $Y_{n}(x ; \lambda)$. Therefore, the number 7 is only used for index representation for these polynomials ( $c f$. [16-21]).

Results of this paper are briefly summarized below.
Some fundamental properties of Boole type numbers of higher order and Boole type polynomials of higher order. We derive some fundamental properties of these numbers, and polynomials are given in Section 2.

PDEs and functional equations related to generating functions for Boole type polynomials of higher order, the Daehee numbers and logarithm function are given. Using these equations, derivative formulae and recurrence relations are given in Section 3.
2. Generating Function for the Polynomials $y_{7, n}(x ; \lambda, q, d)$ of Order $v$ and the Numbers $y_{7, n}(\lambda, q, d)$ of Order $v$

In this section, we define the generalization of the numbers $y_{7, n}(\lambda, q, d)$ as follows:

$$
\begin{equation*}
\mathcal{F}_{v}(t ; \lambda, q, d)=\left(\frac{1+q}{(\lambda q)^{d}(1+\lambda t)^{d}+1}\right)^{v}=\sum_{n=0}^{\infty} y_{7, n}^{(v)}(\lambda, q, d) \frac{t^{n}}{n!} \tag{8}
\end{equation*}
$$

We also define the generalization of the polynomials $y_{7, n}(x ; \lambda, q, d)$ as follows:

$$
\begin{equation*}
\mathcal{G}_{v}(t, x ; \lambda, q, d)=(1+\lambda t)^{x} \mathcal{F}_{v}(t ; \lambda, q, d)=\sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} \tag{9}
\end{equation*}
$$

We investigate some properties of the polynomials $y_{7, n}(x ; \lambda, q, d)$ and the numbers $y_{7, n}(\lambda, q, d)$. We give identities and formulas involving these numbers and polynomials, the Apostol-Euler numbers, and the Stirling numbers.

By (8) and (9), we have

$$
y_{7, n}^{(v)}(\lambda, q, d)=y_{7, n}^{(v)}(0 ; \lambda, q, d)
$$

and

$$
y_{7, n}(x ; \lambda, q, d)=y_{7, n}^{(1)}(x ; \lambda, q, d)
$$

In order to give a computation formula for the numbers $y_{7, n}^{(v)}(\lambda, q, d)$, we set

$$
\left(\frac{1+q}{(\lambda q)^{d}(1+\lambda t)^{d}+1}\right)^{v}=\left(\frac{1+q}{2}\right)^{v}\left(\frac{2}{(\lambda q)^{d} e^{d \log (1+\lambda t)}+1}\right)^{v}
$$

Combining the above equation with (1) and (2), we get

$$
\begin{aligned}
\sum_{m=0}^{\infty} y_{7, m}^{(v)}(\lambda, q, d) \frac{t^{m}}{m!} & =\left(\frac{1+q}{2}\right)^{v} \sum_{n=0}^{\infty} \mathcal{E}_{n}^{(v)}\left(\lambda^{d} q^{d}\right) \frac{d^{n}(\log (1+\lambda t))^{n}}{n!} \\
& =\left(\frac{1+q}{2}\right)^{v} \sum_{m=0}^{\infty} \sum_{n=0}^{m} d^{n} \lambda^{m} \mathcal{E}_{n}^{(v)}\left(\lambda^{d} q^{d}\right) S_{1}(m, n) \frac{t^{m}}{m!}
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, a computation formula for the numbers $y_{7, m}^{(v)}(\lambda, q, d)$ is given by the following theorem:

Theorem 1. Let $q>0, v, d, m \in \mathbb{N}$ and $\lambda \in \mathbb{C}$. Then we have

$$
y_{7, m}^{(v)}(\lambda, q, d)=\left(\frac{1+q}{2}\right)^{v} \lambda^{m} \sum_{n=0}^{m} d^{n} \mathcal{E}_{n}^{(v)}\left(\lambda^{d} q^{d}\right) S_{1}(m, n)
$$

Using (8), we obtain

$$
(1+q)^{v}=\sum_{j=0}^{v}\binom{v}{j}(\lambda q)^{d j}(1+\lambda t)^{d j} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(\lambda, q, d) \frac{t^{n}}{n!}
$$

From the previous equation, we have

$$
(1+q)^{v}=\sum_{n=0}^{\infty} \sum_{j=0}^{v}\binom{v}{j}(\lambda q)^{d j}\binom{d j}{n} \lambda^{n} t^{n} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(\lambda, q, d) \frac{t^{n}}{n!} .
$$

Hence

$$
(1+q)^{v}=\sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{v}\binom{n}{k}\binom{v}{j}(\lambda q)^{d j}(d j)_{k} \lambda^{k} y_{7, n-k}^{(v)}(\lambda, q, d) \frac{t^{n}}{n!} .
$$

Making some straightforward calculations in the previous equation, a recurrence relation for $y_{7, n}^{(v)}(\lambda, q, d)$ is obtained. This relation is given by the following theorem:

Theorem 2. Let

$$
y_{7,0}^{(v)}(\lambda, q, d)=\left(\frac{1+q}{(\lambda q)^{d}+1}\right)^{v}
$$

For $n \in \mathbb{N}$, we have

$$
\sum_{k=0}^{n} \sum_{j=0}^{v}\binom{n}{k}\binom{v}{j}(\lambda q)^{d j}(d j)_{k} \lambda^{k} y_{7, n-k}^{(v)}(\lambda, q, d)=0
$$

With the help of Equation (8), setting the following equation:

$$
\mathcal{F}_{v_{1}+v_{2}}(t ; \lambda, q, d)=\mathcal{F}_{v_{1}}(t ; \lambda, q, d) \mathcal{F}_{v_{2}}(t ; \lambda, q, d)
$$

Making some calculations in the previous equation, another recurrence relation for $y_{7, n}^{(v)}(\lambda, q, d)$ is also obtained. This relation is given by the following theorem:

Theorem 3. Let $q>0, v_{1}, v_{2}, d, n \in \mathbb{N}$ and $\lambda \in \mathbb{C}$. Then we have

$$
\begin{equation*}
y_{7, n}^{\left(v_{1}+v_{2}\right)}(\lambda, q, d)=\sum_{j=0}^{n}\binom{n}{j} y_{7, j}^{\left(v_{1}\right)}(\lambda, q, d) y_{7, n-j}^{\left(v_{2}\right)}(\lambda, q, d) \tag{10}
\end{equation*}
$$

Setting $v_{1}=v_{2}=1$ in (10), we compute the following few values of the numbers $y_{7, n}^{(2)}(\lambda, q, d)$ :

$$
\begin{gathered}
y_{7,0}^{(2)}(\lambda, q, d)=\left(\frac{1+q}{(\lambda q)^{d}+1}\right)^{2} \\
y_{7,1}^{(2)}(\lambda, q, d)=-\frac{2 d \lambda(\lambda q)^{d}(1+q)^{2}}{\left((\lambda q)^{d}+1\right)^{3}}
\end{gathered}
$$

and

$$
\begin{aligned}
y_{7,2}^{(2)}(\lambda, q, d)= & \frac{8(d \lambda)^{2}(\lambda q)^{2 d}(1+q)^{2}}{\left((\lambda q)^{d}+1\right)^{4}} \\
& -\frac{\left(\lambda^{2}(\lambda q)^{d}\left((d)_{2}+(2 d)_{2}(\lambda q)^{d}\right)(1+q)^{2}\right.}{\left((\lambda q)^{d}+1\right)^{4}}
\end{aligned}
$$

A relation between the numbers $y_{7, n}^{(v)}(\lambda, q, d)$ and the polynomials $y_{7, n}^{(v)}(x ; \lambda, q, d)$ is given by the following theorem.

Theorem 4. Let $q>0, v, d, n \in \mathbb{N}$ and $\lambda \in \mathbb{C}$. Then we have

$$
y_{7, n}^{(v)}(x ; \lambda, q, d)=\sum_{j=0}^{n}\binom{n}{j}(x)_{j} \lambda^{j} y_{7, n}^{(v)}(\lambda, q, d)
$$

## Proof.

$$
\begin{aligned}
\sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} & =(1+\lambda t)^{x} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(\lambda, q, d) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\binom{x}{n}(\lambda t)^{n} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(\lambda, q, d) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty} \sum_{j=0}^{n}\binom{n}{j}(x)_{j} \lambda^{j} y_{7, n}^{(v)}(\lambda, q, d) \frac{t^{n}}{n!}
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we have the derived result.

Using definition of the numbers $y_{7, n}^{(v)}(x ; \lambda, q, d)$, we have

$$
(1+\lambda t)^{x}=\left(\frac{1+q}{(\lambda q)^{d}(1+\lambda t)^{d}+1}\right)^{-v} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!}
$$

After elementary calculation, we obtain

$$
\sum_{n=0}^{\infty}(x)_{n} \lambda^{n} \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} y_{7, n}^{(-v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!}
$$

Making some straightforward calculations in the previous equation, and after that comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we have the following theorem:

Theorem 5. Let $q>0, v, d, n \in \mathbb{N}$ and $\lambda \in \mathbb{C}$. Then we have

$$
(x)_{n}=\frac{1}{\lambda^{n}} \sum_{j=0}^{n}\binom{n}{j} y_{7, n-j}^{(-v)}(x ; \lambda, q, d) y_{7, j}^{(v)}(x ; \lambda, q, d)
$$

Substituting $\lambda t=e^{z}-1$ into (9), we have

$$
\left(\frac{1+q}{2}\right)^{v}\left(\frac{2}{(\lambda q)^{d} e^{z d}+1}\right)^{v} e^{z x}=\sum_{m=0}^{\infty} y_{7, m}^{(v)}(x ; \lambda, q, d) \frac{\left(e^{z}-1\right)^{m}}{\lambda^{m} m!}
$$

Combining the previous equation with (1) and (3), we obtain

$$
\left(\frac{1+q}{2}\right)^{v} \sum_{n=0}^{\infty} d^{n} \mathcal{E}_{n}^{(v)}\left(\frac{x}{d} ; \lambda^{d} q^{d}\right) \frac{z^{n}}{n!}=\sum_{m=0}^{\infty} \frac{y_{7, m}^{(v)}(x ; \lambda, q, d)}{\lambda^{m}} \sum_{n=0}^{\infty} S_{2}(n, m) \frac{z^{n}}{n!}
$$

Since $S_{2}(n, m)=0$ for $m>n$, we have

$$
\left(\frac{1+q}{2}\right)^{v} \sum_{n=0}^{\infty} d^{n} \mathcal{E}_{n}^{(v)}\left(\frac{x}{d} ; \lambda^{d} q^{d}\right) \frac{z^{n}}{n!}=\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} \frac{y_{7, m}^{(v)}(x ; \lambda, q, d)}{\lambda^{m}} S_{2}(n, m)\right) \frac{z^{n}}{n!}
$$

Comparing the coefficients of $\frac{z^{n}}{n!}$ on the both sides of the above equation, we derive the following theorem:

Theorem 6. Let $q>0, v, d, n \in \mathbb{N}$ and $\lambda \in \mathbb{C}$. Then we have

$$
\left(\frac{1+q}{2}\right)^{v} \mathcal{E}_{n}^{(v)}\left(\frac{x}{d^{d}} ; \lambda^{d} q^{d}\right)=\frac{1}{d^{n}}\left(\sum_{m=0}^{n} \frac{y_{7, m}^{(v)}(x ; \lambda, q, d)}{\lambda^{m}} S_{2}(n, m)\right)
$$

Setting

$$
F_{v+k}(t ; \lambda, q, d)=F_{v}(t ; \lambda, q, d) F_{k}(t ; \lambda, q, d)
$$

Using the previous equation, we derive the following theorem:
Theorem 7. Let $q>0, v, d, n \in \mathbb{N}$ and $\lambda \in \mathbb{C}$. Then we have

$$
\begin{equation*}
y_{7, n}^{(v)}(x+y ; \lambda, q, d)=\sum_{j=0}^{n}\binom{n}{j}(x+y)_{j} y_{7, n-j}^{(v)}(\lambda, q, d) . \tag{11}
\end{equation*}
$$

Proof.

$$
\begin{aligned}
\sum_{n=0}^{\infty} y_{7, n}^{(v)}(x+y ; \lambda, q, d) \frac{t^{n}}{n!} & =(1+\lambda t)^{x+y}\left(\frac{1+q}{(\lambda q)^{d}(1+\lambda t)^{d}+1}\right)^{v} \\
& =\sum_{n=0}^{\infty}(y)_{n} \lambda^{n} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!}
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we have the derived result.

Combining the following the Chu-Vandermonde identity with (11)

$$
\begin{equation*}
\sum_{j=0}^{k}\binom{m}{j}\binom{n-m}{k-j}=\binom{n}{k} \tag{12}
\end{equation*}
$$

we have

$$
y_{7, n}^{(v)}(x+y ; \lambda, q, d)=\sum_{j=0}^{n}\binom{n}{j}(x)_{n-j} y_{7, n}^{(v)}(x ; \lambda, q, d)
$$

and

$$
y_{7, n}^{(v)}(x+y ; \lambda, q, d)=\sum_{j=0}^{n}\binom{n}{j}(y)_{n-j} y_{7, n}^{(v)}(\lambda, q, d)
$$

Combining (12) with (11), we arrive at the following corollary:
Corollary 1. Let $q>0, v, d, n \in \mathbb{N}$ and $\lambda \in \mathbb{C}$. Then we have

$$
y_{7, n}^{(v)}(x+y ; \lambda, q, d)=\sum_{j=0}^{n}\binom{n}{j} \sum_{k=0}^{j}(x)_{k}(y)_{j-k} y_{7, n-j}^{(v)}(\lambda, q, d) .
$$

Kucukoglu [27] defined the following generating functions:

$$
\begin{equation*}
\mathcal{F}_{d}(t ; \lambda, q, v)=\left(\frac{\log (1+\lambda t)}{(\lambda q)^{d}(1+\lambda t)^{d}-1}\right)^{v}=\sum_{n=0}^{\infty} I_{n, d}^{(v)}(\lambda, q) \frac{t^{n}}{n!} \tag{13}
\end{equation*}
$$

and

$$
\begin{equation*}
\mathcal{G}_{d}(t, x ; \lambda, q, v)=(1+\lambda t)^{x} \mathcal{F}_{d}(t ; \lambda, q, v)=\sum_{n=0}^{\infty} I_{n, d}^{(v)}(x ; \lambda, q) \frac{t^{n}}{n!} \tag{14}
\end{equation*}
$$

Combining (14) with (9), we have

$$
\mathcal{G}_{v}(t, x ; \lambda, q, d) \mathcal{G}_{d}(t, x ; \lambda, q, v)=(1+\lambda t)^{2 x} \frac{(1+q)^{v}(\log (1+\lambda t))^{v}}{\left((\lambda q)^{2 d}(1+\lambda t)^{2 d}-1\right)^{v}}
$$

From the above equation, we get

$$
\mathcal{G}_{v}(t, x ; \lambda, q, d) \mathcal{G}_{d}(t, x ; \lambda, q, v)=(1+q)^{v} \mathcal{G}_{2 d}(t, 2 x ; \lambda, q, v) .
$$

From the equality in (14) with $2 d$ and $2 x$ instead of $d$ respectively $x$, we arrive at the following one:

$$
\sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} I_{n, d}^{(v)}(x ; \lambda, q) \frac{t^{n}}{n!}=(1+q)^{v} \sum_{n=0}^{\infty} I_{n, 2 d}^{(v)}(2 x ; \lambda, q) \frac{t^{n}}{n!}
$$

Using the Cauchy product and comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we have the following theorem:

Theorem 8. Let $q>0, v, d, n \in \mathbb{N}$ and $\lambda \in \mathbb{C}$. Then we have

$$
\begin{equation*}
I_{n, 2 d}^{(v)}(t, 2 x ; \lambda, q)=\frac{1}{(1+q)^{v}} \sum_{j=0}^{n}\binom{n}{j} I_{j, d}^{(v)}(x ; \lambda, q) y_{7, n-j}^{(v)}(x ; \lambda, q, d) \tag{15}
\end{equation*}
$$

Remark 2. When $v=1$, (15) reduce to

$$
I_{n, 2 d}(t, 2 x ; \lambda, q)=\frac{1}{1+q} \sum_{j=0}^{n}\binom{n}{j} I_{j, d}(x ; \lambda, q) y_{7, n-j}(x ; \lambda, q, d)
$$

(cf. [21]).

## 3. Partial Derivative Equations and Their Applications

In this section, we deal with some partial derivative equations and functional equations involving generating functions for the polynomials $y_{7, n}^{(v)}(x ; \lambda, q, d)$, the Daehee numbers and logarithm function. By using these equations, we derive derivative formulas for the polynomials $y_{7, n}^{(v)}(x ; \lambda, q, d)$, and some identities including these polynomials, recurrence relations of these polynomials, the Daehee numbers and finite combinatorial sums.

### 3.1. Partial Derivative Equations and Derivative Formulas

Differentiating both side of (9) with respect to $x$, we get the following partial differential equations:

$$
\begin{equation*}
\frac{\partial}{\partial x}\left\{\mathcal{G}_{v}(t, x ; \lambda, q, d)\right\}=\log (1+\lambda t) \mathcal{G}_{v}(t, x ; \lambda, q, d) \tag{16}
\end{equation*}
$$

and

$$
\begin{equation*}
\frac{\partial}{\partial x}\left\{\mathcal{G}_{v}(t, x ; \lambda, q, d)\right\}=\lambda t F_{D}(\lambda t) \mathcal{G}_{v}(t, x ; \lambda, q, d) \tag{17}
\end{equation*}
$$

By using the above derivative equations, here we derive two derivative formulas for the polynomials $y_{7, n}^{(v)}(x ; \lambda, q, d)$. Using these formulas, we derive a combinatorial sums including these polynomials and the Daehee numbers.

Combining (9) with (16), we get

$$
\sum_{n=0}^{\infty} \frac{\partial}{\partial x}\left\{y_{7, n}^{(v)}(x ; \lambda, q, d)\right\} \frac{t^{n}}{n!}=\sum_{n=1}^{\infty}(-1)^{n-1} \lambda^{n} \frac{t^{n}}{n} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!}
$$

After some elementary calculations from the above equation, we arrive at the following theorem:
Theorem 9. Let $n \in \mathbb{N}$. Then we have

$$
\begin{equation*}
\frac{\partial}{\partial x}\left\{y_{7, n}^{(v)}(x ; \lambda, q, d)\right\}=\sum_{j=0}^{n-1}(-1)^{j}\binom{n}{j+1} j!\lambda^{j+1} y_{7, n-1-j}^{(v)}(x ; \lambda, q, d) \tag{18}
\end{equation*}
$$

Combining (9) with (17), we get

$$
\sum_{n=0}^{\infty} \frac{\partial}{\partial x}\left\{y_{7, n}^{(v)}(x ; \lambda, q, d)\right\} \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} \lambda^{n+1} D_{n} \frac{t^{n+1}}{n!} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!}
$$

Therefore

$$
\sum_{n=0}^{\infty} \frac{\partial}{\partial x}\left\{y_{7, n}^{(v)}(x ; \lambda, q, d)\right\} \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} n \sum_{j=0}^{n-1}\binom{n-1}{j} D_{j} \lambda^{j+1} y_{7, n-1-j}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 10. Let $n \in \mathbb{N}$. Then we have

$$
\begin{equation*}
\frac{\partial}{\partial x}\left\{y_{7, n}^{(v)}(x ; \lambda, q, d)\right\}=n \sum_{j=0}^{n-1}\binom{n-1}{j} D_{j} \lambda^{j+1} y_{7, n-1-j}^{(v)}(x ; \lambda, q, d) \tag{19}
\end{equation*}
$$

Using (5), the following well-known explicit formula for the Daehee numbers is given by

$$
D_{j}=(-1)^{j} \frac{j!}{j+1}
$$

(cf. [2,5]). Combining (19) and (18) with this formula, we derive the following finite combinatorial sum:
Corollary 2. Let $n \in \mathbb{N}$. Then we have

$$
\begin{equation*}
n \sum_{j=0}^{n-1}\binom{n-1}{j} D_{j} \lambda^{j+1} y_{7, n-1-j}^{(v)}(x ; \lambda, q, d)=\sum_{j=0}^{n-1}(-1)^{j}\binom{n}{j+1} j!\lambda^{j+1} y_{7, n-1-j}^{(v)}(x ; \lambda, q, d) \tag{20}
\end{equation*}
$$

### 3.2. Recurrence Relations

Here, we give partial differential equations for generating functions $\mathcal{G}_{v}(t, x ; \lambda, q, d)$. With the help of these equations, two recurrence relations for the polynomials $y_{7, n+1}^{(v)}(x ; \lambda, q, d)$ are given.

Differentiating both sides of (9) with respect to $t$, we obtain the following partial derivative equations:

$$
\begin{align*}
\frac{\partial}{\partial t}\left\{\mathcal{G}_{v}(t, x ; \lambda, q, d)\right\}= & x \lambda \mathcal{G}_{v}(t, x-1 ; \lambda, q, d)  \tag{21}\\
& -\frac{v d q^{d} \lambda^{d+1}}{1+q} \mathcal{G}_{v+1}(t, x+d-1 ; \lambda, q, d)
\end{align*}
$$

and

$$
\begin{align*}
& \frac{\partial}{\partial t}\left\{\mathcal{G}_{v}(t, x ; \lambda, q, d)\right\}=\frac{\lambda x}{1+\lambda t} \mathcal{G}_{v}(t, x ; \lambda, q, d)  \tag{22}\\
& -\frac{v d q^{d} \lambda^{d+1}}{1+q} \mathcal{G}_{1}(t, d-1 ; \lambda, q, d) \mathcal{G}_{v}(t, x ; \lambda, q, d)
\end{align*}
$$

Combining (9) with (21), we get

$$
\begin{aligned}
& \sum_{n=0}^{\infty} y_{7, n+1}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} \\
= & x \lambda \sum_{n=0}^{\infty} y_{7, n}^{(v)}(x-1 ; \lambda, q, d) \frac{t^{n}}{n!}-\frac{v d q^{d} \lambda^{d+1}}{1+q} \sum_{n=0}^{\infty} y_{7, n}^{(v+1)}(x+d-1 ; \lambda, q, d) \frac{t^{n}}{n!} .
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 11. Let $n \in \mathbb{N}_{0}$. Then we have

$$
\begin{aligned}
y_{7, n+1}^{(v)}(x ; \lambda, q, d)= & x \lambda y_{7, n}^{(v)}(x-1 ; \lambda, q, d) \\
& -\frac{v d q^{d} \lambda^{d+1}}{1+q} y_{7, n}^{(v+1)}(x+d-1 ; \lambda, q, d)
\end{aligned}
$$

Assume that $|\lambda t|<1$. Combining (9) with (22), we get, with $y_{7, n}(d-1 ; \lambda, q, d)=y_{7, n}^{(1)}(d-$ $1 ; \lambda, q, d)$,

$$
\begin{aligned}
& \sum_{n=0}^{\infty} y_{7, n+1}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} \\
= & \lambda x \sum_{n=0}^{\infty}(-\lambda t)^{n} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} \\
& -\frac{v \lambda d(\lambda q)^{d}}{1+q} \sum_{n=0}^{\infty} y_{7, n}(d-1 ; \lambda, q, d) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} y_{7, n}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} .
\end{aligned}
$$

Therefore

$$
\begin{aligned}
& \sum_{n=0}^{\infty} y_{7, n+1}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} \\
= & \lambda x \sum_{n=0}^{\infty} \sum_{j=0}^{n}(-1)^{j}\binom{n}{j} j!\lambda^{j} y_{7, n-j}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} \\
& -\frac{v d q^{d} \lambda^{d+1}}{1+q} \sum_{n=0}^{\infty} \sum_{j=0}^{n}\binom{n}{j} y_{7, j}(d-1 ; \lambda, q, d) y_{7, n-j}^{(v)}(x ; \lambda, q, d) \frac{t^{n}}{n!} .
\end{aligned}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 12. Let $n \in \mathbb{N}_{0}$. Then we have

$$
\begin{aligned}
y_{7, n+1}^{(v)}(x ; \lambda, q, d)= & \lambda x \sum_{j=0}^{n}(-1)^{j}\binom{n}{j} j!\lambda^{j} y_{7, n-j}^{(v)}(x ; \lambda, q, d) \\
& -\frac{v d q^{d} \lambda^{d+1}}{1+q} \sum_{j=0}^{n}\binom{n}{j} y_{7, j}(d-1 ; \lambda, q, d) y_{7, n-j}^{(v)}(x ; \lambda, q, d)
\end{aligned}
$$

## 4. Conclusion

In the recent extensive written works about the theory of special functions, especially special numbers and polynomials, there are widespread manuscripts and books including special numbers and polynomials such as combinatorial numbers and polynomials, Apostol type numbers and polynomials, Peters type polynomials and numbers, Boole polynomials and numbers, Stirling numbers, Changhee numbers and Daehee numbers. In this paper, we give some new families of combinatorial numbers, which are generalizations and unifications of the Peters and Boole polynomials and numbers with the help of generating functions. By using these functions and their PDEs and functional equations, we derived various interesting properties and identities of these polynomials and numbers. Appropriate relationships of our polynomials and numbers and the results of this paper are compared with earlier results. Consequently, the results of this paper may potentially be used, not only in analytic number theory and for special numbers and polynomials, but also in other areas.

Author Contributions: The authors are equally contribute the content of the paper.
Funding: This research received no external funding.
Acknowledgments: The first author was supported by the Scientific Research Project Administration of Akdeniz University Project No: FKA-2019-4385. The authors would like to thank the referees for their valuable comments on the present paper.

Conflicts of Interest: The authors declare no conflict of interest.

## References

1. Boas, R.P; Buck, R.C. Polynomial Expansions of Analytic Functions; Academic Press: New York, NY, USA, 1964; p. 37.
2. Jordan, C. Calculus of Finite Differences, 2nd ed.; Chelsea Publishing Company: New York, NY, USA, 1950.
3. Kim, D.S.; Kim, T. Barnes-Type Boole polynomials. Contrib. Discret. Math. 2016, 11, 715.
4. Kim, D.S.; Kim, T.; Seo, J. A note on Changhee numbers and polynomials. Adv. Stud. Theor. Phys. 2013, 7, 993-1003. [CrossRef]
5. Kim, D.S.; Kim, T. Daehee numbers and polynomials. Appl. Math. Sci. (Ruse) 2013, 7, 5969-5976. [CrossRef]
6. Kim, D.S.; Kim, T.; Kwon, H.I.; Mansour, T.; Seo, J. Barnes-type Peters polynomial with umbral calculus viewpoint. J. Inequl. Appl. 2014, 2014, 324. [CrossRef]
7. Kim, D.S.; Kim, T. A Note on Boole polynomials. Integ. Trans. Sp. Funct. 2014, 4, 1-7. [CrossRef]
8. Kim, D.S.; Kim, T. Twisted Peters polynomials arising from multivariate $p$-adic integral on $\mathbb{Z}_{p}$. J. Comput. Anal. Appl. 2015, 18, 572-578.
9. Kim, D.S.; Kim, T.; Park, J.W.; Seo, J.J. Differential equations associated with Peters polynomials. Glob. J. Pure Appl. Math. 2016, 12, 2915-2922.
10. Kim, D.S.; Kim, T.; Komatsu, T.; Kwon, H.I.; Lee, S.H. Barnes-type Peters polynomials associated with poly-Cauchy polynomials of the second kind. J. Comput. Anal. Appl. 2016, 20, 1-24.
11. Kucukoglu, I.; Simsek Y. On a family of special numbers and polynomials associated with Apostol-type numbers and polynomials and combinatorial numbers. 2019, Unpublished work.
12. Kruchinin, D.V.; Kruchinin, V.V. Application of a composition of generating functions for obtaining explicit formulas of polynomials. J. Math. Anal. Appl. 2013, 404, 161-171. [CrossRef]
13. Roman, S. The Umbral Calculus; Academic Press: New York, NY, USA, 1984.
14. Simsek, Y. Generating functions for generalized Stirling type numbers, array type polynomials, Eulerian type polynomials and their alications. Fixed Point Theory Appl. 2013, 87, 343-355.
15. Simsek, Y. Analysis of the $p$-adic $q$-Volkenborn integrals: An approach to generalized Apostol-type special numbers and polynomials and their applications. Cogent. Math. 2016, 3, 1-17. [CrossRef]
16. Simsek, Y. Apostol type Daehee numbers and polynomials. Adv. Stud. Contemp. Math. 2016, 26, 1-12.
17. Simsek, Y. Identities on the Changhee numbers and Apostol-Daehee polynomials. Adv. Stud. Contemp. Math. 2017, 27, 199-212.
18. Simsek, Y. Construction of some new families of Apostol-type numbers and polynomials via Dirichlet character and $p$-adic $q$-integrals. Turk. J. Math. 2018, 42, 557-577. [CrossRef]
19. Simsek, Y. On Boole-type combinatorial numbers and polynimials. Filomat 2019, Unpublished work.
20. Simsek, Y. Apostol type Peters polynomials and numbers and their generating functions and applications. 2019, Unpublished work.
21. Simsek, Y.; So, J.S. Identities, inequalities for Boole type polynomials: Approach to generating functions and infinite series. J. Inequl. Appl. 2019. [CrossRef]
22. Srivastava, H.M.; Kucukoglu, I.; Simsek, Y. Partial differential equations for a new family of numbers and polynomials unifying the Apostol-type numbers and the Apostol-type polynomials. J. Number. Theory 2017, 181, 117-146. [CrossRef]
23. Srivastava, H.M.; Kucukoglu, I.; Simsek, Y. A new family of Lerch-type zeta functions interpolating a certain class of higher-order Apostol-type numbers and Apostol-type polynomials. Quaest. Math. 2018, 1-14. [CrossRef]
24. Comtet, L. Advanced Combinatorics: The Art of Finite and In nite Expansions; Tranlated from the 428 French by Nienhuys, J.W.; Reidel: Dordrecht, The Netherlands; Boston, MA, USA, 1974.
25. Djordjevic, G.B.; Milovanovic, G.V. Special Classes of Polynomials; University of Nis, Faculty of Technology: Leskovac, Norway, 2014.
26. Kim, T. q-Volkenborn integration. Russ. J. Math. Phys. 2002, 19, 288-299.
27. Kucukoglu, I. A note on combinatorial numbers and polynomials. In Proceedings of the Mediterranean International Conference of Pure\&Applied Mathematics and Related Areas(MICOPAM2018), Antalya, Turkey, 26-29 October 2018; pp. 103-106, ISBN 978-86-6016-036-4.
28. Srivastava, H.M. Some generalizations and basic (or $q$-) extensions of the Bernoulli, Euler and Genocchi polynomials. Appl. Math. Inf. Sci. 2011, 5, 390-444.
29. Srivastava, H.M.; Kim, T.; Simsek, Y. q-Bernoulli numbers and polynomials associated with multiple $q$-zeta functions and basic L-series. Russ. J. Math. Phys. 2005, 12, 241-268.
30. Kucukoglu, I. Derivative formulas related to unification of generating functions for Sheffer type sequences. In Proceedings of the AIP Conference Proceedings, Rhodes, Greece, 13-18 September 2018.
31. Apostol, T. M. On the Lerch zeta function. Pac. J. Math. 1951, 1, 161-167. [CrossRef]
32. Srivastava, H.M.; Choi, J. Zeta and q-zeta Functions and Associated Series and Integrals; Elsevier Science Publishers: Amsterdam, The Netherlands; London, UK; New York, NY, USA, 2012.
© 2019 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http:// creativecommons.org/licenses/by/4.0/).
